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Antumn Break Home Work-
KV MAU
CLASS VI- MATHEMETICS

Q. Insert commas suitably and write the names according to Indian

system of Numeration:

(a) 87595762 (b) 8546283 (c) 99900046 (d) 98432701
Q.2. Write the successor of:

(a) 2440701 (b) 100199 (c) 1099999 (d) 2345670
Q3. Find the value of the following:

(2) 297 x 17 + 297 x 3
(b) 54279 x 92 + 8 x 54279

Q.4. Using divisibility tests, determine which of the following numbers are
divisible by 11:
(a) 5445
(b) 10824
(c) 7138965

Q.5. Find the smallest 4-digit number which is divisible by 18, 24 and 32.

Q.6. Find the least number which when divided by 6, 15 and 18 leave
remainder 5 in each case.

Q.7. Three tankers contain 403 litres, 434 litres and 485 litres of diesel
respectively. Find the maximum capacity of a container that can measure
the diesel of the three containers exact number of times.

Q.8. Draw a rough sketch of a quadrilateral KLMN. State,
(a) two pairs of opposite sides,
(b) two pairs of opposite angles,
(c) two pairs of adjacent sides,
(d) two pairs of adjacent angles.

Q.s. Draw any circle and mark
(a) its centre (b) a radius (c) a diameter (d) a sector
{e) a segment (f) a point in its Interior (g) a pointin its exterior

Q.10. Name the types of following triangles:
(a) Triangle with lengths of sides 7 cm, 8 cm and 9 cm.
(b) AABC with AB=8.7cm, AC=7 cm and BC =6 cm.



(c) APQR such that PQ=QR =PR =5 cm.

(d) ADEF with 2D = 90"

(e) " XYZ with £Y =90” and XY = YZ.

(f) ALMN with 2L =30, £M = 70° and 2N = 80°,
Q.11. Find

(a) (-7) - & - (-25)

(b) (-13)+32-8-1

(c) (=7) + (-8) + (-80)

(d) 50 - (—40) - (-2)
Q.12. Fill in the blanks with >, < or = sign.

(a) (=3) + (-8) (-3) - (~=6)

(b) (-21) - (-10) (-31) + (-11)

(c) 45 - (- 11) 57 + (- 4)

(d) (-25) - (—42) _ (- 42) - (=25)

Q.13. Write the fractions and pair up the equivalent fractions from each
row.
(a) (b) (c) (d) (e)
(i) (ii) (i) (iv) v)
Q.14. Solve

(2)2/3+1/7
(b)3/104+7/15
(c)4/19+42/7
(d)3/4-113
(e)5/6-113
(N2/13+3/4+1/2

Q.15. Find the value of:
(a) 9.756 — 6.28
(b) 21.05 - 15.27
(c)18.5-6.79
(d) 11.6 — 9.847
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Autumn Break Home Work-(03-10-2022 to 12-10-2022

KV MAU
CLASS VII- MATHEMETICS

Q.. Find the product, using suitable properties:

(a) 26 ¥ (= 48) + (- 48) x (-36)

(b) 8 % 33 x (-125)

(c) 625 x (=35) + (- 625) x 65
Q.2. Evaluate each of the following:

(a) (=30) =10

(b) 50 + (-5)

(€) (=31) + [(-30) + (-1)]
Q.3. Solve:

i) 2-(35)

(i)  4+(78)

(iii)  (3/5) + (2/7)

(iv)  (9/M11) - (4/15)

(v} (7110) + (2/5) + (3/2)
Q.4. Find the perimeters of (i) Triangle ABE (ii) the rectangle BCDE in this

figure. Whose perimeter is greater?

A
5 3
—cm 3—cm
2 5
2—cm
B E
7
—cm
6
C D
Q.5. Find:
(i) 7.9+1000
(i) 26.3+1000
(iii) 38.53 +1000
(iv) 3.25<0.5
Q.6. The performance of a student in 1st Term and 2nd Term is given.

Draw a double bar graph choosing appropriate scale and answer the
following:



e —_— . — - ” S. Science

’ Subjeet I'T-ni".ll;lll_ ”ITI'r;tH | F- ‘ ;'M"h{' _ Seience |
i U Term (MM, 100) ” o P 2 N l““ _ ” 8 ” ”. "
! 2‘-"1't-rml.\l.?\l. 100) ” 70 ,f 05 "’5 - IL“-‘ - H?i___ﬁ____“

(i) In which subject, has the child Improved his porformance the most?
(if) In which subject is the improvement the loast?

(iii) Has the performance gono down in any subjoct?
Q.7. The weights (in kg.) of 15 studonts of a class aro:
38, 42, 35, 37, 45, 50, 32,43, 43, 40, 36, 38, 43, 38, 47

(i) Find the mode and median of this data.
(i) Is there more than one mode?
Q.8. Solve the following equations:
(@) 2(x +4) =12
(b)3(n-5)=21
(€)3(n-5)=_24
(d)15=4+3(t+2)
(€) 4 + 5(p - 1) =34

Q.8. In the adjoining figure, p || q. Find the unknown angles.
p
A q
A
e

125°
f Q
'Jf

y

Q.10. In the given fig. find the values of the angles x, y, and z:

y
55° - x

Q.11, The diagonals of a rhombus measure 16 cm and 30 ¢m. Find jts
perimeter.,
Q.12.  Atreeis broken at a height of 5 m from the ground and its top

original height of the tree.

Q.13. The population of a city decreased from 25,000 to 24,500. Find the
percentage decrease.

Q.14. Find the amount to bo paid at the end of 3 years:
Principal = Rs. 1,200 at 12% p.a.

@ - Pk Y enalan - _ /1927
ey l:']—nu.r kumoh

@ fﬂ,UJ‘I r&JM/ ff‘"i—%‘gu‘p

N == N




Autumn Break Home Work-(03-10-2022 to 12-10-2022)
KV MAU

CILASS VIII- MATHEMETICS

Q.1. Using appropriate properties find.
(i) -2/13 x 3/5 + 5/2 — 3/5 % 1/6

Q.2. Find the multiplicative inverse of the

(i) =13 (ii) -13/19 (iii) 1/5 (iv) -5/8 x (-3/7) (v) -1 x (-2/5) (vi) -1

Q.3. Find five rational numbers between.

(i) 2/3 and 4/5 (ii) -3/2 and 5/3 (iii) Ya and ¥z
Q.4. Solve the following equations.

(i) (Bx —3)3x=2

(i) (Ty + )y + 2) = 4/3
(iii) n/2 —3n/4 + 5n/6 = 21
(iv) 2y + 5/3 =26/3 -y
(v) Ex+9=5+3x

Q.5. Find the angle measure x in the following figures.

70°
X
60°
(2) (b)
30°
x X
70" s0°
(c) (d)

Q.e. in the above figure both RISK and CLUE are parallelograms. Find the
value of x.
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Q.. The numbar of students In a hostoel, speaking different
given below, Display the data in a ple chart.
(l.luguaur_ HHwli .-Il';mil:'l} \Lﬁm l 'i'arnll Iengall | Total 1
Number 40 12 ] 1 | 1
of stmlenis
Q.s. Find the squaro roots of the following numbors by the Prime
Factorisation Method.
I. 729 il. 400 Il 1764 iv, 4096 v, 7744
Q.. For each of the following numbers, find the smallest whole number

by which it should bo multiplied so as to got a perfect square number. Also
find the square root of the square number so obtalned.
i. 252 il. 180 fii. 1008 lv. 2028

Q.10. Find the square root of each of the following numbers by Divislon
method.

l. 2304 il. 4489 1. 3481 Iv. 529
Q.11. Find the cube root of each of the following numbers by prime

factorisation method.

(i) 64 {ii) 512 (iil) 10648 (iv) 27000

Q.12. Find the smallest number by which each of the following numbers
must be divided to obtain a perfect cube,
(i) 81 (i) 128

Q.13. A VCR and TV were bought for Rs, 8,000 each. The shopkeeper
made a loss of 4% on the VCR and a profit of 8% on the TV. Find the gain or
loss percent on the whole transaction.

Q.14. | borrowed Rs. 12000 from Jamshed at 6% per annum simple Interest
for 2 years. Had | borrowed this sum at 6% per annum compound interest,
what extra amount would | have to pay?

Q.15. (a) Subtract 4a - 7ab + 3b + 12 from 12a - 9ab + 5b — 3
(b) Subtract 3xy + 5yz — 7zx from 5xy — 2yz — 22x + 10xyz
{c) Subtractdp q-3pq+5pg’-8p + 79-10from 18 —3p-11q + 5pq
- 2pq’ + 5p’g

Q.16. (a)Add:p(p-qlq(g=rjandr(r-p)
(b) Add: 2x (z-x-y) and 2y (z - y = x)
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Autumn Break Home Work-(03-10-2022 to 12-10-2022)
KV MAU
CLASS IX- MATHEMETICS

Q.. simplify each of the following expressions:
(i) (3+V3)(2+2)
(ii) (3+33)(3-V3 )
(iii) (V5+2)?
(iv) (V5-V2)(V5+2)
Q.2. Rationalize the denominators of the following:
(i) 1N7
(i1) 1(N7-V6)
(1)) 1/(N5+42)
(iv) 11(N7-2)
Q.3. Factorize:
(i) 4x*+9y®+162%+12xy-24yz-16xz
(ii) 2x?+y?+82°-2V2xy+4\2yz-8xz
(iii) 27-125a-135a +225a°
Q.4. Verify that:
Ky +zi-3xyz = (112) (x+y+2)[(x-y) +(y=2)+(z-x)’]
Q.5. See Fig., and write the following:
i. The coordinates of B. el

ii. The coordinates of C.
iii. The point identified by the coordinates

iv. The point identified by the coordinates -
(2, - 4).

s
(-3, -5). : |
1

Ly "':J'!"J'

v. The abscissa of the point D.

vi. The ordinate of the point H.

vii. The coordinates of the point L.
viii. The coordinates of the point M.

I.'.nu.n-l‘!- -_ _- I.

n

Q.6. In countries like USA and Canada, temperature is measured in
Fahrenheit, whereas in countries like India, it is measured in Celsius. Here
is a linear equation that converts Fahrenheit to Celsius:

(i) Draw the graph of the linear equation above using Celsius for x-axis and
Fahrenheit for y-axis.

(ii) If the temperature is 30°C, what is the temperature in Fahrenheit?

(iii) If the temperature is 95°F, what is the temperature in Celsius?

(iv) If the temperature Is 0°C, what is the temperature in Fahrenheit and if
the temperature Is 0°F, what is the temperature in Celsius?




utumn Break Home Work-(03-10-2022 to 12-10-2022)
KV MAU
CLASS IX- MATHEMETICS

a4.  Simplify each of the following expressions:
(i) (3+u’3)(2+'~f2]
(ii) (3+V3)(3-43 )
(iii) (V5+2)?
(iv) (V5-2)(V5++2)
Q.2. Rationalize the denominators of the following:
(i) 1NT
(i) 1(N7-J6)
(ifi) 1/(V5+2)
(iv) H{N7-2)
Q3. Factorize:
(i) 4x?+9y?+1627+12xy-24yz-16x2
(ii) 2x*+y?+8z%-2V2xy+4\2yz-8xz
(iii) 27-125a%-135a +225a°
Q.4. Verify that:
x3+y2i-3xyz = (112) (cy+2)lix-y)+y-2)+zx)']
Q.5. See Fig., and write the following:
i. The coordinates of B.
ii. The coordinates of C.
iii. The point identified by the coordinates
(-3, -5).
iv. The point identified by the coordinates
(2, - 4).

b dudy
i
4

i

La

v. The abscissa of the point D.

vi. The ordinate of the point H.

vii. The coordinates of the point L.
viii. The coordinates of the point M.
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Q.6. In countries like USA and Canada, temperature is measured in
Fahrenheit, whereas in countries like Indla, it is measured in Celsius. Here
is a linear equation that converts Fahrenheit to Celsius:

() Draw the graph of the linear equation above using Celsius for x-axis and
Fahrenheit for y-axis.

(1i) If the temperature is 30°C, what is the temperature in Fahrenheit?

(ill) If the temperature Is 95°F, what is the temperature in Celsius?

(iv) If the temperature is 0°C, what is the temperature in Fahrenheit and if
the temperature is 0°F, what is the temperature in Celsius?



hrenhelt
(V}Is there a temperature which Is numerically the same in both Fa

and Celsius? If yes, find it.

en
Q7. Ifa point € lies between two points A and B such that AC = BC, th
Prove that AC = ¥: AB. Explain by drawing the figuroe.
Q.8. InFig. 510, if AC = BD, then prove that AB = ¢D,
) ;'.________.o—— '"_—_.__--J-I.'I'
ig. 10
Q.. In Fig. 6.43,if PQ L PS, PQ ISR, 28QR=28°> I

and £QRT = 65°, then find the values of x and Y.

Q.10. AB is a line segment and P is its mid-
point. D and E are points on the same side of
AB such that zBAD = £ABE and £EPA = 4DPB
(see Fig. 7.22). Show that
(i) ADAP = AEBP
(ii) AD = BE

Q.11. ABCD is a quadrilateral in which P,Q,Rands
are mid-points of the sides AB, BC, CD and DA (see Fig
8.29). AC is a diagonal. Show that:

(i) SR || AC and SR=1/2 AC
(ii) PQ=SR
(iii) PQRS Is a parallelogram.

Q.12. State and Prove Mid-Point Theorem

1D e ye drv - ‘;‘{M‘ ff!ﬂ/fif
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-(03-10-2022 to 12-10-2022
KV MAU
CLASS X- MATHEMETICS

Q.1. Find the LCM and HCF of the following pairs of Integers and verify
that LCM x HCF = product of the two numbers.
(i) 26 and 91
(i) 510 and 92
(i) 336 and 54

Q.2. Prove that the following are irrationals:
(i) 11,2
(i) 795
(i) 6 + v2
(iv) ¥3
(v) 2-5v3

Q.3. Find the zeroes of the following quacdra
relationship between the zeroes and the coefficlents.
(i) x*-2x -8
(i)  6x*-3-7x

tic polynomials and verify the

ynomial each with the given numbers as the sum

Q.4. Find a quadratic pol
and product of its zeroes respectively.
(i) 14 , -1
iy V2,3

b1/b2 , ciic2 find out whether the

Q.s. On comparing the ratios alla2,
f linear equations intersect ata

lines representing the following pairs 0
peint, are parallel or coincident:
(1) 5x—4y+8=0; 7x+68y-9=0
[ii}9x+3y+12=0; 18x + 6y +24=0
(iii) 6x—3y +10=0; 2x-y+9=0
Q.6. Form the pair of linear equations for the following problems and find

their solution by substitution method.

(i) The difference between two numbers is 26 and one number is three

times the other. Find them.
(ii)  The larger of two supplementary angles exceeds the smaller by 18
degrees. Find them.
Q.7. Solve the following pair of linear equations by the elimination

method and the substitution method:

(i)x+y=5and 2x-3y=4

(ii) 3x + 4y = 10 and 2x-2y=2

[iii}3x—5y—4=ﬂand9x=2y+?

(iv) xf2+ 2yi3 = -1 and x-yf3=3

Q.8. Find the roots of the following quadratic equations by factorisation:

() x?=3x=10=0

(ii)2x* +x-6=0

(i) V2 x*+7x +5v2=0

(iv) 2x* = x +1/8 =0




() 100y ~20xr s 1= 0 , ations, s0
9 Find the values of ¥ for each of the following quadratic eqU

that they have two equal roots,

fl|?,".".'!l'ﬁ

(Hjexfr-2)+6=0
Q16 Findthe 31stterm of an A.P. whose 11th term is 38 and the 16th term

&

Q11 Which term of the AP, 3, 15, 27, 39,.. will be 132 more than its 54th
lerm?

Q12 How many multiples of 4 lie between 10 and 2507

Q.13 I the sum of the first nterms of an AP is 4n = n?, what is the first
term (that s $')7 What is the sum of first two terms? What is the second
term? Similarly find the 3rd, the10th and the nth terms.

Q.1¢ Frove that if a line is drawn parallel to one side of a triangle to
imtersect the other two sides in distinct points, the other two sides are
divided in the same ratio.

Q.1s. In the figure, altitudes AD and CE of AABC intersect each other at the
point P. Show that:

C
(i) LAEP -~ ACDP D
(W) LAED ~ ACBE P
(ill) LAEP ~ AADB
fiv) APDC ~ ABEC
A al B

Q1€ Find the distance between the
foliowing pairs of points:
(i) (2, 3), (4, 1)
(ij1-5,7), (-1, 3)
(i) (2. b), (-3, - b)
Q47. Name the type of quadrilateral formed, if any, by the
2nd give reasons for your answer:
(i} (-1,-2),(1,0),(-1,2),(- 3, 0)
() 1-2.5),(3,1). (0, 3), (-1, - 4)
(i) (4, 5). (7, &), (4, 3), (1, 2)
Qg WA znd B are (-2, -2) and (2, -4), respectively, find the coordinates of

P such that AP = 2/7 AB and P lies on the line segment AB.
Q18 Evaluate the following:

() sin €0 cos 20" + sin 30* cos 60°
(i) 2 tan’ 45° + cos” 20 — sin? §0°

Q.20. As observed from the topof a 75 m high lighthouse from the sea-
level. the angles of depression of two ships are 30° and 45°. |f one ship is
exactly behind the other on the same side of the lighthouse, find the
distance between the two ships,

following points,
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HOLIDAY HOMEWORK FOR AUTUMN BREAK
(03/10/2022to 12/10/2022)
CLASS-V1 And VII SUBJECT: ENGLISH

. Write 02 Notices for your school notice board. (01 for cach of the followlng: Lost

and Found).

. Write 02 Applications to the Principal of your school. (01 for cach of the

following- sick leave and to attend marrlage ceremony).

. Write Paragraphs on the following toplcs:

My School, My Favourite Festlval, Myfelssol. Mgﬁ‘?’%’"’

Write 01 short story of your choice. (give a Title to the story)

5. \Write one page handwriting daily.




e.g.3. find the average salary of each department.
Sol:

values in the SELECT it

** One thing thot you should keep in mind Is that while grouping , you should include anly those ik,
0

that cither have the same value for o group or contaln @ groupfaggregote) function. Like in e.g. 2 given above,
column has onefsome) volue for a group and the other expression SUM{SAL) contains o group function.

NESTED GROUP
To create a group within a group L.e., nested group, you need to specify multiple fields In the GROUP ﬁ‘l'
expression. e.g. To group records Job wise within Deptno wise, you need to issue a query statement like :

SELECT DEPTNO , JOB , COUNT(EMPNQ)

FROM EMPL
GROUP BY DEPTNO , JOB ;
Output
DEPTNO | JOB COUNT(EMPNO)
10 CLERK 1
20 SALESMAN 1
20 MANAGER 1
30 SALESMAN 1

PLACING CONDITION ON GROUPS — HAVING CLAUSE
- The HAVING clause places conditions on groups in contrast to WHERE clause that places condition on individual
rows. While WHERE conditions cannot include aggregate functions, HAVING conditions can do so.
- e.g. To display the jobs where the number of employees is less than 2,
SELECT JOB, COUNT(*)

FROM EMPL
GROUP BY JOB
HAVING COUNT({*) < 2;
Output
JOB COUNT(*®)
CLERK 1
MANAGER 1
DATABASE TRANSACTIONS
TRANSACTION

A Transaction is a logical unit of work that must succeed or fall In its entirety. This statement means that a
transaction may invelve many sub steps, which should either all be carried out successfully or all be ignored if
csome failure occurs, A Transaction is an atomic operation which may not be divided into smaller operations.

xampl! Tran i

Begin transaction
Gel balance from account X
Calculate new balance as X - 1000
Store new balance Into database file
Get balance from account ¥
Calculate new balance as Y + 1000
Store new balance Into database file

End transaction




HOLIDAY HOMEWORK FOR AUTUMN BREAK
(03/10/2022 to 12/10/2022)

CLASS-VII SUBJECT: ENGLISH

1 You are Kiran/ Karan, school captain of Oxford High School, Bahadurgarh. Write a
Notice for school natice board, informing the students about a Poem recitation
competition to be held on 25th October.
Write 03 Applications to the Principal of your school. (01 for each of the
following sick leave, change of sectlon and to attend marrlage ceremony).
3 Write 02 Paragraphs on the following toples: A Visit to the Zoo, The

Sports Day of Your School.
4 Write 01 short story of your choice. (give a Title to the story)
5. Write a Diary entry on how you spent your Autumn Break.

-
-

Sub Teacheys -
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TRANSACTION PROPERTIES (ACID PROPERTIES)

1. ATOMICITY(AIl or None Concept) - This property ensures that either all operations of the transaction are
carried out or none are.

2, CONSISTENCY - This property implies that if the database was in a consistent state before the start of
transaction execution, then upon termination of transaction, the database will also be in a consistent state.

3.ISOLATION - This property implies that each transaction is unaware of other transactions executing
cancurrently In the system.

4. DURABILITY - This property of a transaction ensures that aft=r the successful completion of a
transaction, the changes made by it to the database persist, even if there are system failures,

TRANSACTION CONTROL COMMANDS ( TCL)

The TCL of MySQL consists of following commands :

1. BEGIN or START TRANSACTION ~ marks the beginning of 2 transaction.
2. COMMIT - Ends the current transaction by saving database changes znd starts a new transaction.

3. ROLLBACK - Ends the current transaction by discarding database changes and starts a new transaction.
4. SAVEPOINT - Define breakpoints for the transaction to allow partial rollbacks.
5. SET AUTOCOMMIT - Enables or disables the default auto commit mode



KENDRIYA VIDYALAYA MAU

HOLIDAY HOMEWORK FOR AUTUMN BREAK
(03/10/2022 to 12/10/2022)
CLASS- IX SUBJECT: ENGLISH

Make a decorative and detailed portfolio by giving the answers of the
questions below-

1. Write or paste 01 Discursive passages of 400- 450 words each with 10 Very
Short Answer type Questions (MCQS) and their answers.

2. Write or paste 01 Case based Factual passages (with visual input/statistical

data/chart etc. of 200- 250 words) each with 10 Very Short Answer type
Questions (MCQS) and their answers.

3. Write 01 short story (based on beginning line, outline, cues etc.)

4. Write 01 Descriptive paragraphs. (person)

5. Write a Diary entry about how you spent your Autumn Break.

6 . Fill in the blanks in the following passage by using the correct tense form of the

verbs given inbrackets, choosing the appropriate options from the given ones.

Once Martin Luther I{mg (@) ... ..(Address) a public meeting. Suddenly
someone (b).... [Throw} a shne at hlm. But King (C)veeremseenrenrne (Not lose) his
cool. He {d] ................. (pick) up the shoe and told the gathering that some kind
gentleman, knowing that he could notafford shoes, (€).......... (Throw) one for him. He

() icisiisinns (Request) the gentle man to throw him the other one too, After he said so, a
man appeared before him and apologized.

g\'l-b-'-f:tﬂf.lﬂm"
CD R:‘-hk.ﬁ..j KL“.-.\_Q})
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KENDRIYA VIDYALAYA MAU
HOLIDAY HOMEWORK FOR AUTUMN BREAK

(03/10/2022 to 12/10/2022)
CLASS- twsq X SUBJECT: ENGLISH

Make a decorative and detailed portfolio by giving the answers of the
questions below-

1. Write or paste 01 Discursive passages of 400- 450 words with 10 Very Short
Answer type Questions (MCQS) and their answers.

2. Write or paste 01 Case based Factual passages (with visual input/statistical

data/chart etc. of 200- 250 words) with 10 Very Short Answer type Questions
(MCQS) and their answers,

3. As head of music department of your school. Write a letter to Gurugram music

house placing an order for some instrutements. You are Anjali/Anil of D.PS
school Rohini, New Delhi,

X

Write a detailed biography of Robert Frost. Write a poem written by Robert Frost
and central idea of the poem.

5. Revise all the chapters of "Footprints without feet” and “First Flight” which have
been taught till now.

6. Fill in the blanks in the following passage by using the correct tense form of
the verbs given inbrackets, choosing the appropriate options from the given
ones,

Once Martin Luther King (a) v, (Address) a public meeting. Suddenly
someone (b)...iernnnns (Throw) a shoe at him. But king (c)......(Not lose) his cool. He
() S———— - (pick) up the shoe and told the gathering that some kind gentleman,
knowing that he could not afford shoes, () e (Throw) one for him.

He (£) et i (REQUESE) the gentle man to throw him the other one too. After
he said so, a man appeared before him and apologized.
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1am sharing "autumn break homework of class 9" wilh you - Googlo Docs

AUTUMN BREAK HOMEWORK

CLASS-XII
5 Sets of previous year board examination C.B.S.E. question paper is given to the students which

consists of :
i) objective type question
i) assertion-reason type question
iii) case based question
iv} short answer type question

v) long answer type questions.

2. revision of Notes is to be done by students.
3. examples and exercises should be revised.
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I am sharing 'Document {4)' with you - Google Docs

AUTUMN BREAK HOMEWORK

CLASS 11

1) Solve question paper of physics of periodic test 1.
2) Solve following question of exercise of mentioned chapters:

i)Chapter 2- 2.1t02.3;2.10t0 2.12

ii)Chapter 3-3.1t0 3.3 ; 3,6, 3.10, 3.11

ijChapter4-4.1t04.3,;4.9;4.15t04.21;
4.24,4.25

3)Draw the flow chart of chapter 3 and 4.

g RE



lam sharing ‘autumn break Homework of class &' with you - Google Docs

AUTUMN BREAK HOMEWORK

CLASS-9

1) Write short notes on gravitational force and write it's properties.
2) Solve the question paper of physics of the half yearly exam.

3) Solve the following questions of exercise of chapter ' FORCE AND LAWS OF MOTION: ijquestion 1

to question 4 ; iijquestion 6 to question 9.
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heald [EEIT:

HEhd HIDBIRID TEbRIH

S HEBIH heTl: IS8T ( 6 )

BRI YTeelsa Ase; Teheddel GLEET SEaT FATHT ( gfeers: )

Example : dTelch: dTcleh! dTefhl:  ( Write 15 Words like this )

3TPRTed FASIT eeT:Thddd SEHd g AP ( TS )
Example : ofdl oad ofdr: ( Write 15 words like this )
TEpd drFanfa (25 ) mEd |

Example 1) dTelch: uafa | 2 JITST: Tofd | 25 Sentences like this
drelch: , ITRTPT |, JOUH  RISGEUTIFT W | Page No. 89 & 90

U3 , IH YIGEUTFT ©f@d | ( °IC -] -l ) page No. 92,93 & 94

T&pd BrE-ulde ©HEd |



heald [EeITY:

HEhd HIDBIRID TEbRIH

Y HEpc heTl: IS8T ( 6 )

* HPRIec Ufeolsal e Uehddel GEET S FUTPT ( gfeas: )

Example : dTelch: dTeTeh! dTefhl:  ( Write 15 Words like this )

*

3TPRTed FHSIT [eeT:Thddd SHd qEad FUImT ( ENmEIE: )

Example : ofdl oad ofdr: ( Write 15 words like this )

*

GEpd dreranfal (25 ) mEd |

Example 1) dTelch: Uafd | 2)TeT: Telfd | 25 Sentences like this

* dleldh: |, dTThI ,W AeqHUTPT W | Page No. 89 & 90

* TS, IH UIGEUIFT BEd | ( o - T -5 ) page No. 92, 93 & 94

*

HEh BIF-Ufd=l B |
beald HCITAT:
3TIHRIRIR {l}‘cﬁreﬁ??

[HYY: HEpcla HETT: AT (7 )

* {DTSJTDSIFIT% Q(‘vﬂzﬁl?[ ISEC] ,WW | Write Sadachaarah Poems and
Learn

* JEAT: 1 - 50 {-i{-dgd\ ©Idd | Write 1-50 numbers in Sanskrit

Write some Examples with pictures.
*dd ( YTeorsT-ENEE-AYHBIST RICHUIPT Had |
* Ohd Ase:  ( UTCelSIT-ENITASI-ATHBEASI: )
* YITRUTPT ( US , We, , 315 ) oIC-oJe-oIg ( actalel- HETA-3cThTe:)
* &P Yidell [FEcar husEfdhed |
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[ N

* JET: 1 -100«’«3& @ | Write 1- 100 numbers in Sanskrit.

* gTefh |, ATl |, AT , JOUH AeHUIPT HEd |

* Ohd Asq:  ( UTCelSIT-ENITASI-ATHDPETASI: )
* YITRUTPT ( IS , W, , 1S , B ) TE-JJe-o15 (Il - HEHSI-
HAPTeT:)

* &P Uil Il I Hoc |



Home work for Autumn Break

Class -11

Subject- Economics

1. Distinguish between microeconomics and macroeconomics. Give examples.
2. Explain the central problem ‘for whom to produce’.

3. Giving suitable examples, explain the meaning of microeconomics and macroeconomics
4 Why is a production possibilities curve concave? Explain.

5. How is production possibility curve affected by unemployment in the economy? Explain.

6. Explain how a production possibility curve is affected when resources are inefficiently
employed in an economy.

7. Define Production Possibilities Curve. Explain why it is downward sloping from left to right.
8. What is ‘Marginal Rate of Transformation’? Explain with the help of an example.

9.. State reasons why does an economic problem arise.

10. Explain the central problem of ‘how to produce’.

11. Define an economy. Why does it face the problem of ‘what to produce’?

12.Define an economy. Why does it face the problem of ‘how to produce’?

13. Production in an economy is below its potential due to unemployment. Government starts
employment generation schemes. Explain its effect using production possibilities curve.

15. Explain the meaning of opportunity cost with the help of production possibility schedule.
16.Given the market price of a good, how does a consumer decide as to how many units of that
good to buy? Explain.

17. Explain the law of diminishing marginal utility with the help of a utility schedule.

18. A consumer consumes only two goods X and Y. State and explain the conditions of
consumer’s equilibrium with the help of utility analysis.

19.A consumer consumes only two goods A and B and is in equilibrium. Show that when price
of good B falls, demand for B rises. Answer this question with the help of utility analysis.

20 Explain the conditions determining how many units of a good the consumer will buy at a
given price.

21. A consumer consumes only two goods X and Y. At a consumption level of these two goods,
he finds that the ratio of marginal utility to price in case of is higher than in case of Y.

Explain the reaction of the consumer.

22 .Explain the conditions of consumer’s equilibrium with the help of indifference curve analysis.
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Home work for Autumn Break

Class 12

Subject Economics

1. What was the focus of the economic pol icies pu rsued by the colonial government in | ndia?
What were the impacts of these pol icies?

2.Name some notable economists who estimated India's per ca pita income during the colonial
period.

3.What were the main ca uses of | ndia's ag ricu Itu ral stag nation during the colonia | period?
4 Name some modern industries which were in operation in our country at the time of
independence.

5.What was the two-fold motive beh ind the systematic deindustria | isation effected by the
British in pre-independent India?

6.The traditional handicrafts industries were rui ned under the British rule. Do you agree with
this view? Give reasons in support of you r answer.

7.What objectives did the British intend to ach ieve through their policies of infrastructu re
development in India?

8.What do you understa nd by the d rain of | ndian wea Ith during the colonial period?

9.Give a quantitative appraisal of India's demog ra phic profi le during the colonial period.
10.When was India's first official census operation undertaken?

11.State th ree main featu res of | ndian economy at the time of independence.

12..Briefly describe the occu pational structu re of Indian economy on the eve of independence.
13.What is infant morta | ity rate?

14.What a re High Yielding Variety (HYV) seeds?

15.What is marketa ble surplus?

16.Expla in the need and type of land reforms implemented in the agriculture sector.

17.What is Green Revol ution? Why was it implemented and how did it benefit the fa rmers?
Explain in brief.

18.Explain the statement that Green Revol ution enabled the government to procu re sufficient
foodgrains to build its stocks that could be used during times of shortage.

19.While subsidies encou rage fa rmers to use new technology, they lead to a huge stress on
the government fi nances. Discuss the usefulness of subsidies in the light of this fact.

20.Why was public sector given a leading role in industrial development during the planning
period?

21.Though public sector is very essentia | for industries, many public sector u nderta kings incur
huge losses and are a drain on the economy's resou rces. Discuss the usefu Iness of public
sector undertakings in the light of this fact.

22 .Why and how was private sector regulated under the IPR-19567

What is industrial licensing? How does it impact al location of resou rces?

23. What was the principal objective of Industria | Policy Resolution, 19567 Did we rea lly
achieve it?

24. Why were sma llI-sca le industries relied upon to achieve the goa | of employment and
equity?

25. What in you r opinion are the bad effects of the strategy of industrial growth between the
period 1947-907?



26 What were the featu res of the Industrial Policy of 19567
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Homework for Autumn Break
2022. Class-8

1- What do you understand by agro based industries?
2- What do you understand by mineral based industries?
3- Define the term 'Small scale industries'.
4- Define the term 'large scale industries'?
5- Write a short note on Iron and Steel Industries.
6- What do you know about tagore's abode of Peace.
7- Write about the following Social Reformers.
(i) Dayanand Saraswati
(i) Jyoti Rao Phule
(iii) Mumtaj Ali
8- What do understand by these terms-
(i) Ghettoisation
(ii) Main Stream
(iii) Malnourished
(iv) Policy
Homework for Autumn Break
2022. Class-9

1. What is bhabar?

02. Name the three major divisions of the Himalayas from north to south.
3. Distinguish between

(i) Bhangar and khadar (ii) Western Ghat and Eastern Ghat

4. what do you meant by water divide?

5. write merits and demerits of democracy.

6. What do you understand by modern farming method?

7.write a Short note on Reign of Terror?

8. Describe the problems faced by Weimar Republic.



Homework for Autumn Break
2022. Class-10

1. What do you know about civil disobedience movement?

2. Describe the impact of Ist world war on Indian economy.

3. What was Zollverein How was it form?

4. Difference between organised "Unorganised.

5. What do you Understand by double coincidence of Wants

6. Describe the sole and of Gram Sabha. Gram Panchayat and gram Sabha?
7.Differenciate between horizontal power sharing and Vertical power sharing.
8. Write a short note a What do about agenda 21.

9. What do you understand by sustainable development?

10.What steps has been taken to conserved the wildlife.



